2 REBFTE-S)VITRERR

EEMh mm B #&E (Ba/kg
Z0lh
No | miExpx | WEAR | WEE | e <0 | TEER G BE BE% zﬁ?ﬁgig“aﬁ?%gm BE W mamk | O | R coiae | coiar | cemit
F HEHE BRRES

1 R’E™ BER — BE-MIfR-fBE™ PIRCL-T Z Dtk =t — B ETRER Ge R1.10.1 R1.10.2 <8.89 <5.96 <15
2 w'E™ BER — SLE-MIFT-BE™ B Z Dt Z5EL — B ST RER Ge R1.10.1 | 43740.00 <9.03 <7.45 <16
3 mE™T BEER — BLE-MIFT-BE™ B Z Dtk BF — B T RIERR Ge R1.10.1 R1.10.2 <4.48 <4.76 <9.2
4 R’E™ BER — SLE-MIFr:-BE™ B fh Z Dtk ¥ — B ST RER Ge R1.10.1 R1.10.2 <7.20 <4.78 <12
5 w'E™ BER — SLE-MIFT-BE™ B &R Z Dtk p=t?| — B ST RER Ge R1.10.1 R1.10.2 <115 <4.77 <12
6 BE™ BER — BLE-NIA-fBET™ B Z Dt p=t?)| — 12 ST EREERT Ge R1.10.1 R1.10.2 <6.43 <5.25 <12
7 ’E™ BER — BLE-MIFT:-BE™ B Z Dtk =t — BETRER Ge R1.10.1 R1.10.2 <5.92 <8.00 <14
8 mE™T BEER — REM RS JETRIE M Z Dtk BaEERK — B ST RIERT Ge R1.10.15 | 43754.00 <0.81 <0.80 <1.6
9 'E™ BER — &I fEET B ah Z Dtk 72 ] — B ETRER Ge R1.10.15 | 43754.00 <7.09 <5.07 <12
10 w'E™ BER — SLE-MIFT:-BE™ B Z D fth 72 1 — B E TR Ge R1.10.15 | 43754.00 <6.60 <5.39 <12
11 BE™ BER — BLE-MIF-fBE™ B Z Dt 72 1] — &SRR Ge R1.10.15 | R1.10.16 <5.75 <1.50 <13
12 'E™ BER — SLE-MIFr:-BE™ B Z Dtk 28 — B S TRER Ge R1.10.15 | R1.10.16 <8.31 <7.65 <16
13 wmE™ BEER — SLE-MIFT-BE™ B &R Z Dtk BF — B ST RERR Ge R1.10.28 | R1.10.30 <1.06 <5.82 <13
14 mE™ BER — BLE-MIF BT B Z Dt ¥ — 2 ST EREERT Ge R1.10.28 | R1.10.30 <6.07 <4.98 <11
15 w’E™ BER — SLE-MIFT-BE™ B Z Dt ¥ — BE TR Ge R1.10.28 | R1.10.30 <8.66 <6.87 <16
16 AT JtimE — — B &R IKE RILAL A — LT REFTRER Ge R1.10.1 R1.10.1 <1.23 <7.84 <15
17 AT EER — — B ah IKEY = AN — AU REFIRER Ge R1.10.1 R1.10.1 <9.42 <9.19 <19
18 AT IR — — B IKEY AEANY — AT RBATRER Ge R1.10.1 R1.10.1 <9.35 <8.11 <17
19 AT BER AT — B ah =EY AR [RAR MU REFTRER Ge R1.10.1 R1.10.1 <1.71 9.28 9.3
20 ARl BER Al — B REY A3 JRAR AL REFTRER Ge R1.10.1 R1.10.1 <5.95 20.7 21
21 AL ST AR — BIRG: LT =EY AR [RR AT RBATIRER Ge R1.10.1 R1.10.1 <5.40 7.24 7.2
22 Al BER ALt — B ah REY AF2Y — LT REFRER Ge R1.10.1 R1.10.1 <8.09 <8.13 <16
23 Al BER AL — B REY 1F29 — LT REFRER Ge R1.10.1 R1.10.1 <9.20 <9.43 <19




EEM o B #& R (Ba/kg
Z0th
N G eS| REe | Ara ;gﬂg;ff};m BN | ey | cste4 | comtar | csmd
F HEHE ARRES
24 B =EY — AU REFIRER R1.10.1 R1.10.1 <9.99 <713 17
25 B REY — LT REFTIRER R1.10.1 R1.10.1 <5.39 <6.59 <12
26 B REY H)I757— — AT RBATIRER R1.10.1 R1.10.1 <9.04 <9.51 <19
27 B REY — LT REFTRER R1.10.1 R1.10.1 <6.89 <1.30 <14
28 B REY — AL REFTIRER R1.104 | R1.104 <9.67 <9.52 <19
29 B REY — AL REFTIRER R1.10.4 R1.10.4 <1.13 <6.70 <14
30 B REY — LT REFTRER R1.10.4 R1.10.4 <5.98 <5.72 <12
31 SLEFT: RS RARLUT B Z Dt Fr—a— — LT REFTRER R1.10.4 R1.10.4 <1.80 <7.94 <16
32 MIFr:-ESRALUT B fh BEY A A—2X MU REFIRER R1.10.4 R1.10.4 <1.94 <8.82 17
33 B REY — AL REFTIRER R1.104 | R1.10.4 <9.70 <8.50 <18
34 B REY — LT REFTRER R1.10.4 R1.10.4 <8.79 <8.96 <18
35 B REY — AL RERTIRER R1.104 | R1.10.4 <7.69 <8.58 <16
36 B REY — AL REFTIRER R1.104 | R1.104 <8.80 <9.41 <18
37 B IKE — LT REFTRER R1.10.8 R1.10.8 <7.11 <8.72 <16
38 IFR:ALiEE PIRCiL-T IKEY — AL REFTRER R1.10.8 R1.10.8 <9.59 <9.37 <19
39 I MIFr:EERALUT B &R IKEY — AT RBATIRER R1.10.8 R1.10.8 <8.33 <8.58 <17
40 SLEFT - RS RALT B fh 4:5%:%"%% — AU REFIRER R1.10.8 R1.10.8 <4.77 <4.73 <9.5
41 SLERT:- RERAILT B qzﬂé}alam — AL REFTRER R1.10.8 R1.10.8 <4.88 <4.55 <9.4
42 SLEFT - RS RAILT B 4:2%%“%}% — LT REFRER R1.10.8 R1.10.8 <4.25 <4.81 <9.1
43 BLERT:-EERAILT B Z Dtk — AL REFATRER R1.10.8 R1.10.8 <157 <1.58 <15
A4 WIEFT RS RELT I q:ﬂﬁi%% — BT REATRER R1.108 | R1.108 <4.03 <4.82 <8.9
45 SLEFT - RS RALT B Z Dtk — LT REFRER R1.10.8 R1.10.8 <8.22 <9.13 17
46 MIFR: SR B ah BEY BT AU RIEFIRER R1.10.8 R1.10.8 <9.26 <8.18 <17
47 MIFr:EERAUT ] BEY BRL: LR AT RBATIRER R1.10.8 R1.10.8 <9.04 <9.18 <18
48 W ML Z Dtk — BEREAERRAR R1.10.24 | R1.11.6 <12 <5.7 <13
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EEM AR #& R (Ba/kg
Z0th
No | st T L iy 2E% ﬁ%ﬁ?ﬁﬁ%@m BEWE ane Cs-134 | Cs—137 | cs&E
F HEHE ARRES

49 BEER %gﬁ%gf%;@ Z Dt EpOYIEE — BERBEHEHR R1.10.24 <5.3 <5.7 <11

0 | EBR G zof i B R 188 R 2L B AR R1.10.24 ar | <ws | <4
51 EaR BE Z 0t fEiE SE3- R R AR R1.10.24 <35 i <66
52 BEER %gﬁ%gfggﬁ ZDits 18iE KIREFE BEREEHEHR R1.10.24 <8.2 <6.6 <15
53 EER %’éé&lﬁgﬁ Z Dt BTl — BEREEMRRER R1.10.24 <6.6 <5.7 <12
54 BER %géu:lﬁ;% Z Dtk BTL — BEREHENRR R1.10.24 <8.1 6.91 6.9

55 BER %éfﬁ%gi%;@ ZDfth av=x’y — EERBIEHRER R1.10.24 <1.0 <14 <14
56 EER %f%gfgg Z0 1t K38 — BE R G AR R1.10.24 <8.0 <8.6 <17
57 BEER (%géu:lﬁg% Z D1t i — BERBEHER R1.10.29 <3.3 <35 <6.8
58 EER (%géu:lﬁgﬁ Z Dtk i — EERBEEHREHR R1.10.29 <35 <35 <1.0
59 EER (%’ggu:lﬁg% Z Dtk b=l — BEREERRR R1.10.29 <39 <26 <6.5
60 BER (%’ggglfgﬁ Z Dtk b= Bl — BE R EAERREAR R1.10.29 <28 <3.7 <6.5
61 BER (%’éégﬁgﬁ Z Dt i — BERBEHER R1.10.29 <32 <3.0 <6.2
62 BER %géu:lﬁ;% ZDith b= ] — BEREHEMRRR R1.10.29 <4.0 <3.0 <1.0
63 EER (%’ééglﬁgﬁ Z Dtk JF*a—)L 359 BEREEMRRER R1.10.29 <3.0 <2.4 <5.4
64 BER %f%géﬁgi Z Dt A—R/\L - BEREERRR R1.10.29 <32 <4.0 <1.2
65 BEER %é%@éﬁ;@ Z Dtk A—R/\Ls — BEREHAERRAR R1.10.29 <5.9 <4.6 <11

66 BER %}f%géﬁg Z Dtk A—R/\Ls — B R AR R1.10.29 <84 <6.1 <15
67 BER %gﬁ%géﬁ:g ZDith yiif- — BEREEMRRR R1.10.29 <85 <16 <16
68 EER %éfﬁ%géﬁgg Z0fit V—t— — EERHEMER R1.10.29 <8.8 <18 <17
69 EER (%f%géﬁ;ﬁ Z Dt DA F—)—t—D — BERBEHEHR R1.10.29 <9.2 <71 <16
70 BEER %gﬁ%géﬁg Z Dtk Fal)J)— — BEREHAERRAR R1.10.29 <15 <8.1 <16
A BER %f%géﬁg Z Dtk —t— — EEREEHRER R1.10.29 <8.0 <8.2 <16
72 BER %gégﬁi—%ﬁ?ﬁ Z Dtk B3 Ba h AR 1 BEREERRR R1.10.29 <3.6 12.6 13

73 BEER WML Z Dt aAvz=yy — BERBEHER R1.10.28 <43 <2.9 <1.2
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& HAHE BEREE
=ER — — %é?%ﬂg?ﬁ;’; JRE ZDfth V=% — EERHEMER Ge R1.10.28 R1.11.6 <46 <2.1 6.7
EEER — — %f%@é??ﬁ TR Z Dt av=—x% — EERAHEMRERR Ge R1.10.28 R1.11.6 <4.0 2.7 6.7
EER EER YEEACHT (%’gggﬁlﬁzﬁ JEFRE ZDfth TIYIEE — EERFHEMEMR Ge R1.10.21 | R1.10.30 <15 <6.0 <14
=ER =ER | HET &6 - LIS JERE R ZDfth 15;& — EERBEMER G R1.10.21 | R1.10.30 <6.8 <5.3 <12
oI 7T~ H 0 7T~ (*E%L‘%ﬁﬁftm AILIE g -m /B == R (S FRAVA LRV . .
EEER EEER EHEACHT i - TP JERE R ZDith 15iE LESVIEE EERHEMER G R1.10.21 | R1.10.30 <14 <5.8 <13
VS LS (33 Iy (T A8 on h=) 2YIR/E & o 1~ 1% R e 0. 0. . .
EER EER SR EHE S-S JERE R ZDfth WA — EEREHEMEMR G R1.10.21 | R1.10.30 <4.3 <3.1 <14
H I 71 H g o1~ = (*E%%%%%EET JILJE oo o) B g o1~ 5] P (5] BAVA R AVA . . .
EEER EEER RIEEWTH SiE- M5 JERE R BEY BEA — EEREEMRER G R1.10.21 | R1.10.30 <19 <5.2 <13
H T~ H ~ = / L (*E%L‘%%ii;im AILIHE An ==L IR =] I=3E3 P e 10, .10, . .
= e = = K& - NI IHAT NP ok = e e o=
BER BER BEEA™ (EEEES AT JERBER 42 it 8% A — EEREAERER Ge R1.10.21 | R1.10.30 <14 <6.6 <14
=A=R =] =A=R =] PNEE K& - MITIEFT Z=iE O 3k S & E Jog
=ER =ER XEENH (BB ELEEAT FE ZDfth Bt 4 4h — EEREHEMER Ge R1.10.21 | R1.10.30 <71 <1.2 <14
EEER EEER R R HT 26 - M5 S A Z Dt hoUiE&E — EEREEMER G R1.10.16 | R1.10.30 <18 <6.3 <14
~ ~ -~ (*E%E:P\EH]T HILIE AR /R H /g o1~ (3] P e 0. 0. . .
EER EER HRRHET %é;%gg%;@ JRiE Z Dk SEEE — EERFHEMEMR Ge R1.10.16 | R1.10.30 <6.2 <5.6 <12
=B = == =] RE - MITIHFT == S R =i = =B E Jo 5
REER EEER HERH (BB B D B TR Z Dtk 1875 SEDESIEE EEREEMRER Ge R1.10.16 | R1.10.30 <6.2 <6.1 <12
EER EER R RET 26 - L5 T Z Dt K& JSE EERAEMER G R1.10.16 | R1.10.30 3.7 <33 <7.0
T~ I~ 7N (*E.%I;?:REET L AR = 7 H L ES P e TU. 1O, . . .
RER =ER R R HET 6 - M5 AT ZDfth D2 TN HILF3 EEREAEMERR G R1.10.16 | R1.10.30 <6.9 <5.9 <13
H D o1 H g o1 >~ (*EEEI%L‘IE?REHT JILIHE pn v v B g o1~ 15 R € BAVA R AVA . .
= =R=| = =R=| O3 SLE - N THFT 2E O 3 ¥ S B e oo g
EEER EEER FAREHT (BB B L = A JERE S ZDfth NEISEIDL ) S — EERREMEMR Ge R1.10.18 | R1.10.30 <9.5 <8.5 <18
=ER EER HEHEET (%’gg%ﬁ?gﬁ JERE S ZDfth Ty et — EERFHEMEMR Ge R1.10.23 | R1.10.30 <4.0 <4.0 <8.0
=1 = %iﬁ'ﬂult%ﬁﬁ A= — = e 1S A -
=ER — — (BB EFMAET JERE S ZDfth D)= YL (EAY EEEHAEMER Ge R1.10.23 | R1.10.30 <43 <4.2 <85
=N =N|=| giﬁ'ﬂuli’%ﬁﬁ =% 0O N = e | gae oo =
EEER — — (3 B 1B E AR E T IERE S Z D D)= PYHE (KEEFAY B B EAER Ge R1.10.23 | R1.10.30 <45 2.7 <12
= = @iﬁ'ﬂuli%ﬁﬁ = =] S *I-'HAL) = P -
EER =ER BEHEET (15 B 1B F A E T JEE S Z Dk D)= W R E EERFHEMEMR Ge R1.10.23 | R1.10.30 <39 <2.6 <6.5
EEER EEER EHEET (%;‘ééuﬁﬁ?gﬁ JERE S Z Dt D)= Pyt (T3a<AY EERREMEMR Ge R1.10.23 | R1.10.30 <3.1 <2.8 <5.9
EER EER mHEET (%’gé%?gﬁ JERE M Z D1k Ty et myYEs(LEAY EERHEMER Ge R1.10.23 | R1.10.30 <4.7 <4.0 <8.7
EER EER BEHEET %gg%ﬁé@;ﬁ JERE S Z Dk D)= PYds (TEAY EERFHEMEMR Ge R1.10.23 | R1.10.30 <44 <3.6 <8.0
EeR &ML kFER | 2o UL E1Y45 (REAY BB R A TR R1.1023 | R1.1030
=T — — (2B ERIEE T FE M 2 2B R RAIEMER Ge 10.23 10.3 <4.2 <3.9 <8.1
EER EER BEHEET (%’gg%ﬁé@% JERE S Z Dk D) PYEE (ED2FEWEAY EERFHEMEMR Ge R1.10.23 | R1.10.30 <2.7 2.7 <5.4
BER BER ELiElh %’éé”ﬁﬁé’@% IE A g2 b e (E;_T" A BEREAERER Ge R1.10.23 | R1.10.30 <37 <238 <6.5
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<32 2.7 <5.9
<28 <25 <5.3
<2.8 <3.3 <6.1
<8.9 <16 A7
<85 <8.0 17
<9.3 <8.8 <18
<9.5 <15 17
<19 <74 <15
<85 <8.4 A7
<8.6 <84 17
<M <6.5 <18
<1 <838 <20
<8.6 <9.0 {18




NO

EEM

BT R

(B, A, EERF

ZDfth
(A, FEK.
A MRS,
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R1.10.29

150

RARE=4

RER

R1.10.29
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BER

R1.10.29
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BER

R1.10.29
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REAEBTE=4

RER

R1.10.28
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RAKE=4

BER

R1.10.29

155

RARETE=4

RER

R1.10.29

156

RERE=4

BER

R1.10.29
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RAKE=4

BER

R1.10.27
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RER
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R1.10.27
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BER

R1.10.29
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RARE=4

BER
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REAEBTE=4

RER

R1.11.1
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RARKE=A

BER

R1.10.29
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RARETE=4

RER

R1.10.28
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RERE=S

BER
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R1.10.29
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RAKE=4

BER

R1.10.27
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BER

R1.10.29
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BEEREXEHREEV2—
BEEREFERHREVS—
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EEREFHREVS—
BERERRAEV5—
EEREFERREVS—
BEEREFHREVS—
BEERERREEVE—
EEREFERREVS—
BERERRAtV5—
EEREERHREGEVS—
EEREFHREVS—
BERERRAtV5—
EEREFERREEVS—
EEREEXREEVE—
BEERERREEV2—
EEREFERHREVS—
BERERBRAtV5—
BEEREERREEVS—

R1.10.29

&5 R (Baske
Cs-134 Cs—137 CsH®&t
<8.6 <6.5 <15
<10 <1.3 <17
<1.8 <85 <16
<8.0 <18 <16
<1 <19 <19
<71 <8.8 <16
<8.5 <8.0 <17
<10 <71 17
<M <14 <18
<9.9 <8.3 <18
9.7 <8.3 <18
<8.2 8.7 17
<8.4 <6.7 <15
<8.1 <6.8 <15
<8.1 7.6 {16
<9.9 <8.0 <18
<16 <13 <15
<9.6 <8.8 <18
<9.0 <12 <16
<1 <14 <18
<19 <6.5 <14
<8.7 <7.6 <16
<9.6 <8.1 <18
<9.0 <6.4 <15
<11 <8.2 19
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RAKE=4
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RARE=4

RER

R1.10.29
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REBE=A

BER
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R1.10.29
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BER

FFITIRS

R1.10.29

203

REAEBTE=4

RER

R1.10.22

204

RAKE=4
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R1.10.29

205
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RER
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R1.10.22

206

RERE=4
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R1.10.30

207

RAKE=4

BER
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R1.10.29

208

RERE=4

RER

FTAIFALFF

R1.10.29
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RAFE=4

BER

R1.10.29

210

RARE=4

RER

SAANIL

R1.10.29

211

REBTE=4

RER

SAANIL

R1.10.29

212

RAKE=A

BER

R1.10.27

213

RABETE=4

RER

R1.11.1

214

REBE=A

BER

R1.10.27

215

RARE=4

BER

R1.10.27

216

REAEBTE=4

RER

R1.10.31

217

RARKE=A

BER

R1.10.31

218

RARETE=4

RER

R1.10.31
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RERE=S

BER

R1.10.31
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RAKE=4
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BERERRAEV5—
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BEEREFHREVS—
BEERERREEV2—
EEREFERREVS—
EEREXREEVE—
EEREERREGEVS—
EEREFHREVS—
BERERRAEV5—
EEREFERREVS—
BEEREFHREVS—
BEERERREEVE—
EEREFERREVS—
BERERRAtV5—
EEREERHREGEVS—
EEREFHREVS—
BERERRAtV5—
EEREFERREEVS—
EEREEXREEVE—
BEERERREEV2—
EEREFERHREVS—
BERERBRAtV5—
BEEREERREEVS—

R1.10.29

&5 R (Baske
Cs-134 Cs—137 CsH®&t
<94 <1.5 <17
<1 <71 <18
<9.1 <1.3 <16
<9.4 <8.4 <18
<8.6 <16 <16
<9.2 <8.5 {18
<9.0 (8.4 <17
<9.9 <8.9 <19
<8.9 <13 {16
<9.0 <71.0 {16
<83 <12 <16
<8.5 <8.2 <17
<9.8 9.2 <19
<8.2 <9.1 17
<8.9 <6.4 <15
<19 <6.9 <15
<85 <6.0 <15
<8.3 <74 <16
9.7 <71 17
<19 <71 <15
<85 <7.0 <16
<18 <7.6 <15
<8.6 1.8 {16
<85 <6.6 15
<7.8 <6.5 {14
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BER

R1.10.29

230
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RER

TLOHATN

R1.10.29
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RERE=4

BER

JAEVHAR

R1.10.29
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RAKE=4

BER

R1.10.31

233

RERE=4

RER

Vel )

R1.10.29

234

RAFE=4

BER

R1.10.29

235

RARE=4

RER

SAANIL

R1.111

236

REBTE=4

RER

SAANIL

R1.111

237

RAKE=A

BER

SAANIL

R1.111

238

RRRE=4

RER

SAANIL

R1.111

239

REBE=A

BER

AN

R1.111

240

RARE=4

BER

SAaANIL

R1.111

241

REAEBTE=4

RER

TAAN)L

R1.111

242

RARKE=A

BER

SAANIL

R1.111

243

RARETE=4

RER

SAANIL

R1.111

244

RERE=4

BER

SAANIL

R1.111

245

RAKE=4

BER

SAANIL

R1.111

246

RRRE=4

RER

SAANIL

R1.111

247

RAFE=4

BER

AN

R1.111
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RARTE=4

BER

SAaANIL

REHE
BEEREXEHREEV2—
BEEREFERHREVS—
BERERRAEV5—
EEREERREVS—
BEEREFHREVS—
BEERERREEV2—
EEREFERREVS—
EEREXREEVE—
EEREERREGEVS—
EEREFHREVS—
BERERRAEV5—
EEREFERREVS—
BEEREFHREVS—
BEERERREEVE—
EEREFERREVS—
BERERRAtV5—
EEREERHREGEVS—
EEREFHREVS—
BERERRAtV5—
EEREFERREEVS—
EEREEXREEVE—
BEERERREEV2—
EEREFERHREVS—
BERERBRAtV5—
BEEREERREEVS—

R1.111

&5 R (Baske
Cs-134 Cs—137 CsH®&t
<9.8 <14 <17
<6.8 <6.1 <13
<11 <8.7 <20
<9.8 <9.5 <19
<1 <15 <19
<8.4 <6.0 {14
<8.8 <8.4 <17
<9.5 <8.0 <18
<71 <6.0 {13
<8.9 <5.9 <15
<11 <8.1 <19
<8.0 8.2 <16
<9.6 <8.5 <18
<719 <8.5 {16
1.3 1.5 <15
<9.4 <8.4 <18
<9.7 <8.3 <18
<9.1 <14 <17
<17 <83 <16
<8.5 <1.7 {16
9.7 <1.3 17
<8.7 <8.5 17
<8.7 <71.2 <16
<9.1 <10 <19
<9.0 8.7 <18
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EEih i B #& % (Ba/ke
Z 0
NO g P S Ey%imgggfgﬁé}#ﬁ REE (*?;H}\EE" Cs-134 | Cs—137 | Cs&%
& HEHE BRRES%
274 | RREE=S AMEFLA — EEREERELVI— R1.10.29 <8.7 <6.1 <15
275 | RBEE=S YFXLIHLA — BERREREEVE— R1.10.29 <8.7 <13 <16
276 | RREHE= — BEREXHKREEVS— R1.10.29 <8.3 <9.1 <17
277 | RREE=S — EEREEREEVS— R1.10.29 <6.6 <1.0 <14
278 | RREE=S roEAR — BERREREEVE— R1.10.29 <9.3 <15 <17
279 | REFE=Y ESYAH= _ BEEEEME L A— R111.1 <10 <70 <14
280 | RREE=Z — BERREREEVE— R1.10.28 <8.4 <85 <17
281 | RBHET=Y YF¥4a — EEREFREEVS— R1.10.29 <15 <6.6 <14
287 | RREE=S ST FINA — EEREERELVE— R1.10.29 <11 <8.6 <20
283 | ROFE=S — BERREREEVE— R1.10.28 <9.5 9.2 <19
284 | RREFE=S — BEREXHKREEVS— R1.10.28 <8.7 <7.0 <16
285 | ROFE=S — EEREEMELS— R1.10.29 At <8.3 19
286 | ReFE=S - BERREREEVE— R1.10.29 <11 <19 <19
287 | RREE=S — REREXEHREEVE— R1.10.30 <11 <85 <20
288 | ROFE=S — EEREEMELS— R1.10.30 At <8.0 19
289 | RREE=Z — BEREXHKREEVS— R1.10.30 <9.2 <8.2 <17
290 | RREE=Z EATYRS — EEREEREEVS— R1.10.28 <95 <9.5 <19
291 | RREE=Z — EEREEREEVI— R1.10.25 <7.2 14.9 15
RAKE=4 . - =
292 B RN (BTEER)IKR) — BEREEHRE U E— R1.10.27 <10 12.9 13
203 | RBEE=Z — EEERENAE I— R1.10.25 <79 24.3 24
294 |RREE=H — EEREERZOA L A— R1.10.25 <81 312 31
295 | REFE=Y — REREFREEVE— R1.10.25 <9.1 26.1 26
206 | RSHE=Z — EEERLENAE I— R1.10.25 <9.4 19.7 20
297 | RREE=S — BEREEHRE LV E— R1.10.25 <9.1 30.9 31
208 | RREE=Z — BERREREEVE— R1.10.25 <8.7 29.9 30
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RAKE=4

R1.10.25
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R1.10.25
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REBE=A

R1.10.25
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RAKE=4

R1.10.25
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REAEBTE=4

R1.10.29

304

RAKE=4

R1.10.29

305

RARETE=4

R1.10.29

306

RERE=4

R1.10.29

307

RAKE=4

R1.10.29

308

RERE=4

R1.10.29

309

RAFE=4

R1.10.29

310

RARE=4

R1.10.25

311

REBTE=4

R1.10.31

312

RAKE=A

R1.11.7

313

RRRE=4

R1.11.5

314

REBE=A

R1.11.5

315

RARE=4

R1.11.5

316

REAEBTE=4

R1.11.5

317

RARKE=A

Joyal)—

R1.11.5

318

RARETE=4

R1.11.5

319

RERE=4

R1.11.5

320

RAKE=4

R1.10.30

321

RRRE=4

FOA47IL—Y
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R1.111

322

RAFE=4

FOA47)L—Y

R1.111

323

RARTE=4

FOA4T)L—Y

REHE
BEEREXEHREEV2—
BEEREFERHREVS—
BERERRAEV5—
EEREERREVS—
BEEREFHREVS—
BEERERREEV2—
EEREFERREVS—
EEREXREEVE—
EEREERREGEVS—
EEREFHREVS—
BERERRAEV5—
EEREFERREVS—
BEEREFHREVS—
BEERERREEVE—
EEREFERREVS—
BERERRAtV5—
EEREERHREGEVS—
EEREFHREVS—
BERERRAtV5—
EEREFERREEVS—
EEREEXREEVE—
BEERERREEV2—
EEREFERHREVS—
BERERBRAtV5—
BEEREERREEVS—

R1.111

&5 R (Baske
Cs—134 Cs—137 CsB§
<9.4 34.1 34
<1.8 375 38
<12 33.1 33
<14 27.7 28
<11 29.8 30
<19 40.1 40
<7.0 456 46
<8.2 432 43
<9.6 37.2 37
<11 438 44
<11 375 38
<15 25 25
<91 <1.4 <17
<1.3 <19 <15
<713 <6.5 {14
<9.4 <1.8 A7
<9.2 <6.9 <16
<5.2 <4.3 <95
<45 <4.4 <8.9
<3.9 <29 <6.8
<5.4 <38 <9.2
<2.9 <25 <5.4
<3.2 <31 <6.3
<48 <34 8.2
<3.9 35 <71.4
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